RAHRBELTERABRORERICET 2FH

FRREELTERABRZBRFRN (—)

HE

24,140 M

BERN

3,072 H (A4&) +15, 650 1 (4-&) +747 H (BEESFE) +4, 670 F (0t xR &)
=24,140 1 (10 AREEIERA)

AEE 301281

10,037 FM 4+3,267 N (BT EANE) = 3,072 [

< NHEDOHNFR>

(1) #a5 Y 8,079 T-H 4
(2) fEFEAR I 1,268 TH 4
(3) BWAGFE1 Y &8 PEME A3 690 T 4

&t 10, 037 M 4E

W#HE - 15,650 H

51,129 FH #+3,267 N (ZBRTEANE) =15,650 H
<W-E DOWNER >

(1) ZBFY - iEae 9,791 TH 4
(2) ZEShE 3,580 TH 4
(3) FIRlEEAR 3,246 TH /4
(4) BfEERE 3,149 TH /4
(5) BRI 3,012 TH 4
(6) f&HEE 9,799 T-H 4
(7) MEH# 3,419 TH 4
(8) Zat# 12,933 TH 4
(9) Zofth 2,200 TH /4

3 51,129 TH /4

EHEZ . 4TH &
2,441 TH,/%#+3,267 N (ZBRYENE) =747 1

xR E - 4,670 -4

15,257 T 4+3,267 N (ZEBTEANE) =4,670 4




RAHRBELTERABRORERICET 2FH

FHRARRELTERABRZIBRFEN RBRR)

HE

18,820 H

BERN

3,072 H (AHE) +10, 335 A (&) +7471 H (BEESFE) +4, 670 F (0 xR &)
=18,820 1 (10 AKEEIERA)

AEE 301281

6,317 T, #+2,056 N (BT EANE) =3,072 [

< NHEDOHNFR>

(1) f5FYEH 5,085 T-H 4
(2) fEFEAR I 798 M4
(3) BWAGFE1 Y &8 PEME A3 434 T /4

&t 6,317 T/ /4

WHE - 10,33 H %

21,248 TH 2,056 N (ZBRTEANE) =10,335 H
<W-E DOWNER >

(1) ZBFY - iEae 3,265 TH /4
(2) ZEShE 2,249 TH /4
(3) FORlEAZ 1,353 TH 4
(4) BfEEE 1,982 TH 4
(5) BRI 1,898 T-H 4
(6) f&HEE 3,005 TH /4
(7) MEH# 2,160 TH /4
(8) Zat# 3,983 TH 4
(9) Zofth 1,353 TH 4

3 21,248 TH /4

ETHEL . 4P &
1,536 M, 4+2,056 N (ZBRTPTEANE) =747 M1

xR E - 4,670 -4

9,602 T, 4+2,056 N (ZBRTEANE) =4,670 1 {4




RAHRBELTERABRORERICET 2FH

FHREELTERABRZIBRFRN (RRZER)

HE

19,520 H

BERN

3,072 H (AHE) +11,035 A (&) +7471 H (BEESFE) +4, 670 F (a0t xR &)

=19,520 (10 AKEEIERA)

AEE 301281

4,845 TH 4#-+1,577 N (ZBRT7E AN

< N DR >
(1) #faGFH%EH
(2) EMEAE S H

(3) BRI 1T 5124 2 PEMR A &3 H

WHEE - 11,03 /A %

it 4,

17,402 TH #-+1,577 A (ZBTEAE)
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1,178 TH 41,577 N (ZBT7E AN

xR E - 4,670 4

7,365 T, 41,577 A (ZBT¥EAE)

=3,072 [

,900 FH /4

612 TH, 4
333 FH 4
845 T-H 4

=11, 035 M {4

, 848 FTH /H
, 725 FH

798 FH /4

, 520 FM /4
, 456 T /4F
, 308 T 4F
, 659 T 4F
, 068 T 4F
, 030 T 4F
G 17,

402 T-H /4

=747 M /1

=4, 670 1




